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SECOND YEAR LL.B. DEGREE EXAMINATION,
NOVEMBER/DECEMBER 2010.

Third Semester
(Common for ITI/III and IV/V candidates)

Paper I — JURISPRUDENCE
Time : Three hours. Maximum : 100 marks
PART A — (6 x 4 = 24 marks)
Answer any SIX questions.
Short Answer Questions.

Theory and fact.

3
\2"  Pure Theory of law.

Coercion.
4. Estoppel.
5., Dharma.

.6\

Ratio decidendi.
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13.

15.

Volksgeist.
Sanction.
Utilitarian theory.

General will theory.

PART B — (2 x 18 = 36 marks)
Answer any TWO questions.

" “Law is a system of Rules”. — Discuss.

Write an essay on the concept of “liability”.
What is meant by primary and sanctioning rights?

Write a critical note on Natural Law theories.

PART C — (2 x 20 = 40 marks)

Answer any TWO questions.

A before going abroad, entrusted some gold jewels
to B. After returning to India. A asked B for the
return of the jewels. B refused to return them. A
broke open B’s almirah in his absence, and took
away all his jewels. B prosecuted A for theft.
Discuss.
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Radha and Venkat have been living together as
wife and husband without getting married. Radha
filed a complaint against Venkat on the ground of
domestic violence. Venkat replies that as they both
are not married, Radha can not complain on the
ground of domestic violence, and that the live in
relationship is only a question of morality and not
a question of law, and hence, courts cannot
interface into such matters. Discuss.

17. Government of India wants to amend the

constitution in such a way that the Government
would have power to allocate funds for the
rennovation and construction of all temples,
mosques and churches. The funds would be
proportionate to the number of people practising
the religion. Sharat files a PIL case alleging that
this proposed amendment violates the  basic
structure of the constitution. Discuss.

!1)3./ Raju bought a new pistol and intending to test

how it works, he fired shots at a mob. The shots
killed a man Sonu. At the trial Raju argues that
he did not intend to kill Sonu and hence, he (Raju)
cannot be held liable. Argue.
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